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for the

perpendicular
bisector

.

Executing
a Match .524) Maps (-45%5)Mbe (62.5-7.5)
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m - .io/y mi -2541



Perpendicular Bi  sector for Ac

Mae :( 17.5.24)
× y

M =

2158

y=mx+b Yimxtb

24=215×(1%5) + b Y=2ftx - 353¥
24  =  215×17.5 tb

=

24  =  3762.5 tb
=

0

24 - 3762.5 = b
→

243¥ -37k¥ = b

19¥
- 37k¥ =b

- 3570.5 =b
→



@ bfron
Ac

↳
from AB

↳

from BC

b. - 3570.5 b= 425.5

so
To =

b.lt#y=2gIx-3soo7oTy=lfxt4jIyi.t25xtly8f

¥7  =  56
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2¥× . 3570¥ = ,Ix +42¥
multiply both sides by 56 to get rid of fraction

,

7 ( zisx ) -7 (3570-5)  =  8 ( lox ) t8( 425.5 )



1505×-24993.5  =  80×+3404

150 Sx - 80^1  =  3404+24993.5

1425 x = 28397.5

× = 19.9

× I 20
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= }dX +42¥

y
= 10,121 +42¥

y
- 2,1 +42¥

y= 62¥
y

= 89.3
y ÷ q

:
.

The tower Should be built at
( 20,89 ) .

what do You notice ?



The circum centre Was

not inside the triangle
.

⇐-

use Triangle - Circancentre is
not inside the
triangle .

Acute Triangle . circum centre is
inside the triangle .

Right Triangle . circum centre is
the midpoint of

the hypotenuse .



y A power line is going to be laid from A (–22, 15) 
to B (7, 33) to C (10, 18) to D (–1, 4).  If the 
units are metres, what length will the power 
line be? 
 

A
*

BE
,3D

( 22,15 ) . ( ( 10,18)÷
A

• Distances find length of each

line Segment .

Play: Use distance formula dttxxttyyj
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Executeplandae
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" 17.8 m

D= 34.1Mt 15.3Mt 17.8mi

D=67.2mi
. The power line needs to

be 67 .

Zm long
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y What are the tools in your mathematical tool 
belt? 



y Pages 120 – 121 
y #8, 9, 12, 14, 16, & 17 


